MAC2313 Quiz 2 January 25, 2024

Answer the following problems. No calculators, formula sheets, or other aids are permitted. Please
show all of your work. Simplify all solutions completely and clearly indicate your answers

1. Let L be the line passing through the point Py(1,1,2) and perpendicular to the plane S :
2x —y + 2z = 3, and 9, be the plane containing L and the point Qo(4, 1,4).

(a) (3 points) Find the vector equation of the line L.
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(b) (5 points) Find the linear equation of the plane Ss.
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(c) (2 points) Show that S is orthogonal to Ss.
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